SOLID WASTE REMOVAL AND RECYCLING SERVICES Bid Proposal Form (PAGE 1)

Proposal prices must include <u>all</u> fees and surcharges and all duties specified in this bid specification.

BID PRICING YEAR ONE - 1/1/2024-12/31/2024:		
A.	Solid Waste Per Pickup Price \$44.88	times 1,235 Pickups = \$_55,426.80
В.	Solid Waste (40-yd compactor) Price \$ 575.00	_ times 52 Pickups = \$29,900.00
C.	Recycling Per Pickup Price \$_22.00	times 1,235 Pickups = \$_27,170.00
D. TOTAL BID PRICE-YEAR 1 (Lines A+B+C) = \$_112,496.80		
BID PRICING YEAR TWO – 1/1/2025-12/31/2025:		
Ε.	Solid Waste Per Pickup Price \$47.12	times 1,235Pickups = \$58,193.20
F.	Solid Waste (40-yd compactor) Price \$_595.00	_ times 52 Pickups = \$
G.	Recycling Per Pickup Price \$_23.12	times 1,235Pickups = \$_28,553.20
	H. TOTAL BID PRICE-YEAR 2 (Lines E	+F+G) = \$ 117,686.40
BID P	RICING YEAR THREE - 1/1/2026-12/31/2026	6:
1.	Solid Waste Per Pickup Price \$_49.44	times 1,235 Pickups = \$61,058.40
J.	Solid Waste (40-yd compactor) Price \$ 615.00	_ times 52 Pickups = \$31,980.00
K.	Recycling Per Pickup Price \$ 24.24	times 1,235 Pickups = \$29,936.40
L. TOTAL BID PRICE-YEAR 3 (Lines I+J+K) = $$_{122,974.80}$		
TOTAL BID PRICE -ALL THREE YEARS (LINES D+H+L) \$ 353,158.00		
		62 Paga

SOLID WASTE REMOVAL AND RECYCLING SERVICES

Bid Proposal Form (PAGE 2)

Optional Pricing

OPTIONAL PRICING #1 SOLID WASTE DUMPSTERS—DISTRICT-WIDE

At times during the school year, the Board of Education may require additional pick-ups due to holiday or event clean-ups. These additional pick-ups will be on an On-Call basis. Bidders are to submit a bid price for an Eight-Yard Cubic dumpster pickup, requested by the Board of Education.

	, 50.00
Eight (8) Yard Cubic Solid Waste Dumpster Pickup	\$

OPTIONAL PRICING #2 CONSTRUCTION CONTAINERS AS NEEDED

At times during the year, the Board of Education may require the need for construction dumpsters for disposition of building materials, old cabinets, and or old furniture. These additional container requests will be on an On-Call basis. Bidders are to submit a bid price for the following roll off construction containers:

Twenty (20) Yard Construction Container	\$550.00
Twenty (30) Yard Construction Container	\$600.00

SOLID WASTE REMOVAL AND RECYCLING SERVICES

Bid Proposal Form (Page 3)

I/we hereby confirm the bid pricing as written on the Bid Proposal Form Pages 1 and 2.

Name of CompanyInterstate Waste Services of New Jersey, Inc.		
Address300 Frank W. Burr Blvd., Suite 39		
City, State, ZipTeaneck, NJ 07666		
Telephone No. (⁹⁷³) 623-7600	Fax No. (973) 623-7667	
FEIN # _Email		
Person Authorized to Bid Michael DiBella	Title Chief Executive Officer	
-		
Signature Manuar Man	Date October 4, 2023	

SOLID WASTE REMOVAL AND RECYCLING SERVICES Bid Proposal Form (PAGE 1)

Proposal prices must include \underline{all} fees and surcharges and all duties specified in this bid specification.

BID PRICING YEAR ONE - 1/1/2024-12/31/2024:		
A. Solid Waste Per Pickup Price \$ 56	times 1,235 Pickups = \$ 69,160	
B. Solid Waste (40-yd compactor) Price \$ 700	times 52 Pickups = \$36,400	
C. Recycling Per Pickup Price \$	times 1,235 Pickups = \$ 24,700	
D. TOTAL BID PRICE-YEAR 1 (Lines A+B+C) = $\frac{130,360}{1}$		
grand and the second se	FF	
BID PRICING YEAR TWO – 1/1/2025-12/31/2025:		
E. Solid Waste Per Pickup Price \$	times 1,235Pickups = \$ 74,100	
F. Solid Waste (40-yd compactor) Price \$_750	times 52 Pickups = \$39,000	
G. Recycling Per Pickup Price \$ 24	times 1,235Pickups = \$ 29,640	
H. TOTAL BID PRICE-YEAR 2 (Lines	E+F+G) = \$ 142,740	
BID PRICING YEAR THREE - 1/1/2026-12/31/2026:		
I. Solid Waste Per Pickup Price \$ 60	times 1,235 Pickups = \$ 74,100	
J. Solid Waste (40-yd compactor) Price \$ 750	times 52 Pickups = \$ <u>39,000</u>	
K. Recycling Per Pickup Price \$	times 1,235 Pickups = \$ 29,640	
L. TOTAL BID PRICE-YEAR 3 (Lines I+J+K) = \$ 142,740		
TOTAL BID PRICE -ALL THREE YEARS (LINES D+H+L) \$ 4/5, 740		

62 | Page

SOLID WASTE REMOVAL AND RECYCLING SERVICES

Bid Proposal Form (PAGE 2)

Optional Pricing

OPTIONAL PRICING #1 SOLID WASTE DUMPSTERS—DISTRICT-WIDE

At times during the school year, the Board of Education may require additional pick-ups due to holiday or event clean-ups. These additional pick-ups will be on an On-Call basis. Bidders are to submit a bid price for an Eight-Yard Cubic dumpster pickup, requested by the Board of Education.

Eight (8) Yard Cubic Solid Waste Dumpster Pickup	\$ 56
Eight (b) rard Cubic Solid Waste Dumpster Fickup	2 20

OPTIONAL PRICING #2 CONSTRUCTION CONTAINERS AS NEEDED

At times during the year, the Board of Education may require the need for construction dumpsters for disposition of building materials, old cabinets, and or old furniture. These additional container requests will be on an On-Call basis. Bidders are to submit a bid price for the following roll off construction containers:

Twenty (20) Yard Construction Container	\$ 600	
Twenty (30) Yard Construction Container	\$ 700	

SOLID WASTE REMOVAL AND RECYCLING SERVICES

Bid Proposal Form (Page 3)

I/we hereby confirm the bid pricing as written on the Bid Proposal Form Pages 1 and 2.

Name of Company Standard Waste Services		
Address 21 Edgebow Rd		
City, State, Zip <u>East Banswick</u> , NS, 088/6		
Telephone No. (732) 967-1565 Fax No. (732) 967-1566		
FEIN # Email 22-2375498 Info@Standadwosk. Com		
Person Authorized to Bid Frank Fino Title General Manager		
Signature		